Mean Spectrum Continuum Lightcurve
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RMS Spectrum BLR Lightcurve
rm427 BLR 6740 NLR 800 km/s

T —r r - - 1 T T T 1 T T 1T T
N o
—~ ~N B T
£ | ]
=
| | ]
‘I‘VJ
£ raw | ]
o - <4
e ORusx g ol ]
~ RMSx -
|° 5 4
= Hell | ]
“_v<
Mgll r 1
o n = | ]
| o TAIDGEE™ b
1 c’# I 1 1 1 1 I 1 1 1 I 1 LIl I h 1Ll I " " " 1 " " " " " " " " 1 " " " " 1

N -
2000 3000 4000 7000 7500
A (R) z = 1.07455 MJD — 2450000

x(\t) = ( Data — Model A ) /o x Corrections
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bad:617=0.15% A (R) z = 1.07455 . MJD — 2450000

u = 0.097(33) x = 1.220(123) => 1.220(123) w = 0.10(42) x = 1.040(52) => 1.040(52)
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